Unit 1 Homework 6 Quiz | Review

Name: Z@‘M Date:

Review for Quiz 1: Integers, Absolute Value, Zero Pairs. & Adding Integers

1. Write the definition for absolute value
The distane a yalu ‘Crom Ze¢rd

2. Circle the number line that models or “proves” |[=5| = 5.

a) 10 @ —
U D BNy W NN AN S BV
-10 -5 0 ] S
c) —
5 0 5 10

3. Find the absolute value of the following numbers.
a. |251=7_5
b. 4|= 4

c. |-3| = 3

4. Write the definition for integer:

Dasrive, ﬂm%zw, thole nombses
lhciur//lfv Zerd

5. Give 3 examples of numbers that are NOT integers.
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6. Compare The following numbers using > , <, or =.
*Hint: Use a number line if you need help!

a. 12 > -12 c. -2 > -5

b. -4f > |-6 d. -20 4 20

7. Order the integers from GREATEST to LEAST:
a, —9,,2’,}’,-,.9:—,5’ ijiz)_ﬁj 8 q
b. 0,-1,~7,-3,-4 O) _I;‘3} -4, ~]

8. Order the integers from LEAST to GREATEST:
a An2-Z-A__ 3 "2j'l L 2
b. AsoAz _ ~8, =2, 2,2 9

9. Solve the following by finding and eliminating zero pairs:

a.@M+7+%+z= 5

-4+HZ

b. m +10L@+)5+4 = 20
ST O

10. Write the definition for inverses.

Tawrses ot teo nombers Fhat add to O.

9. Give 3 examples of inverse pairs. /4,)»,50)4(5 \]a\f\j
—3,3

—/0, 10
_G. b
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10. On the number line, model the temperature problem, the temperature changed from 15 °F to
3 °F, shown by the equation 15+ /2 =3,
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-15 -10 -5 0 \Us 10 15
11. How much did the temperature change in problem #107?
Dropped 12°F

12. On the number line, model the temperature problem, the temperature changed from —15 °F
to 3 °F, shown by the equatic& -15 + 1¥ = 3.
e B

-5 10 5 c Us 10 15
13. How much did the temperature change in problem #127

o IK°F

14. Write a number sentence to mode’the temperature change from 15 °F to =3 °F.
I5+—-18§=-3

15. Write the definition for a zero pair:

A positne & A'n%qa:{-t\/@.mﬂr‘ um S O.

16. Dray the caunters to represent 7 + } Give the sum.
GRS <)

17. Draw the counters to model =7 + =5. Give the sum.



